# PILLAR SOCIETY MEMBERSHIP LEVELS

#### \$15,000 over 3 years (\$5,000 per year)

» <u>Four VIP tickets</u> with Pillar Society location\* to WWA Annual Dinner in Bellevue **OR** <u>Table</u> with Pillar Society location\* at EWA Annual Dinner in Spokane

#### \$22,500 over 3 years (\$7,500 per year)

- » VIP Table with Pillar Society location\* (either WWA or EWA) and
- » Two VIP tickets with Pillar Society location\* to alternative Annual Dinner
- » Membership spotlight on WPC's website and social media

#### \$30,000 over 3 years (\$10,000 per year)

- » Patron table with Pillar Society location\* at Annual Dinner (either WWA or EWA)
- » <u>Two VIP tickets</u> with Pillar Society location\* to alternative Annual Dinner
- » <u>Two tickets to Pillar Society-exclusive</u>, Private Meeting with keynote speaker(s)
- » Recognition as sponsor of WPC's Policy Conference, the Solutions Summit

#### \$50,000 over 3 years (\$15,000 first 2 years and \$20,000 final installment)

All benefits of previous level plus:

- » Benefactor table with Pillar Society location\* at Annual Dinner (either WWA or EWA)
- » Two tickets to invite-only private lunch with Annual Dinner keynote speaker(s)
- » Two sponsor tables at the Solutions Summit either WWA or EWA)
- » Advertising space in one issue of WPC's quarterly magazine, Viewpoint

#### \$75,000 over 3 years (\$25,000 per year)

All benefits of previous level plus:

- » <u>Benefactor table</u> with prime Pillar Society location\* at Annual Dinner (either WWA or EWA)
- » Two additional tickets to exclusive private lunch with Annual Dinner speaker(s)
- » Sponsorship and donor recognition of student table at WPC Annual Dinner

#### \$105,000 over 3 years (\$35,000 per year)

#### All benefits of previous level plus:

- » <u>Champion table with Pillar Society location\* at Annual Dinner (either WWA or EWA)</u>
- » Sponsorship and donor recognition of student table at WPC Annual Dinner

#### \$150,000 over 3 years (\$50,000 per year)

All benefits of previous level plus:

- » <u>Champion table with Pillar Society location\* at Annual Dinner (either WWA or EWA)</u>
- » Title sponsorship of Young Professionals event
- » Opportunity to introduce keynote speaker at Solutions Summit (either WWA or EWA)

#### \$225,000 over 3 years (\$75,000 per year)

All benefits of previous level plus:

- » Platinum table at Annual Dinner (either WWA or EWA)
- » Opportunity to introduce keynote speaker at Annual Dinner (either WWA or EWA)

#### \$300,000 over 3 years (\$100,000 per year)

All benefits of previous level plus:

- » Diamond table at Annual Dinner in both locations
- » Exclusive naming rights to WPC event or program

#### \$450,000 over 3 years (\$150,000 per year)

All benefits of previous level plus:

- » Diamond table at Annual Dinner in both locations
- » Donor-named Fellowship on WPC's full-time research staff

#### \$600,000 over 3 years (\$200,000 per year)

All benefits of previous level plus:

- » <u>Two Diamond tables</u> at Annual Dinner in both Locations
- » Personized benefits decided upon by donor and WPC

#### \$750,000 over 3 years (\$250,000 per year)

All benefits of previous level plus:

- » <u>Two Diamond tables</u> at Annual Dinner in both locations
- » Personized benefits decided upon by donor and WPC

\*WPC's Annual Dinners are two of the largest gala policy events in the country. Pillar Society location of your table ensures prime ballroom placement. See page 19 for dinner table benefits and levels.

#### All Pillar Society members receive:

- » Tickets and/or a table at WPC's Annual Dinner events with premier seating
- » Sponsor table at the Solutions Summit annually
- » Invitation to exclusive Pillar Society Summer Dinner Series
- » Invitation to exclusive Pillar Society events in Palm Springs, Arizona and summer receptions across the state
- » Invitation to participate in the WPC Young Professionals Mentorship Program
- » Recognition on WPC 's website and WPC 's Annual Report (*if desired*)
- » Complimentary tickets to all WPC events
- » Personalized Pillar Society nametag
- » Pillar Society lapel pin
- » Gift and signed book at WPC's Annual Dinner

#### Elements of a personalized plan may include benefits such as:

- » Ad space in WPC's quarterly Magazine, Viewpoint
- » Membership feature on WPC's website and email
- » Exclusive events at your home or office with policy experts
- » Exclusive naming rights for events
- » Opportunity to lead the Pledge of Allegiance at Annual Dinner
- » Additional benefits around the Annual Dinner and/or Solutions Summit (additional tables, access to one-on-one interaction with speakers, etc.)
- » Sponsorship and recognition of Young Professional college club events across the state

### <u>\$225,000 +</u>

Hon. Kemper Freeman, Jr.\*, Kemper Development, Inc. Terry & Jane Petter Charles & Yvonne Pigott Phil Scott\*, Merrill Lynch-The Phil Scott Group Silver Cloud Hotels

#### <u> \$100,000 - \$249,999</u>

Carol & Spike Anderson Jim\* & CK Coles John\* & Kathy\* Connors Patricia Edwards Hon. Mary\* & Vic Odermat, Brown Bear Car Wash Wells Fargo Corporation

#### <u> \$50,000 - \$99,999</u>

Richard\* & Nancy Alvord Berntson Porter & Company, CPAs – Greg Porter\* & Robert Berntson Kent & Bonnie Clausen Brent Frei, Smartsheet John Harnish, The Harnish Group, Inc. Kirk & Sandy Newby Sarah\* & John Rindlaub Randy\* & Margaret Talbot Mike Tembreull, TR Wines, Inc. Jeff & Angela Vandel Bruce & Peggy Wanta, Spectrum Controls, Inc. Washington Trust Bank

#### <u>\$30,000 - \$49,999</u>

Absher Construction Company Ted & Danielle Ackerley Dave\* & Jean Barber, Bartell-Barber Family Investments, LLC Kevin\* & Renee Bouchey Fremont Dock Co. Patrick Cahill Bill Conner\* The Davenport Hotel Birney & Marie Dempcy Mike & Leslie Dunn, Dunn Lumber First Choice Health Steve Gordon Elling & Barbara Halvorson Patrick Hanley John\* & Kathy Hennessy El Jahncke Matt McIlwain\*, Madrona Venture Group John\* & Molly Otter Annette & Bob Parks Phillips 66 Ferndale Refinery Puget Sound Energy Don & Karin Root, GMN Senske Lawn & Tree Care / Washington Tree & Lawn Care National Electrical Contractors Assn. (NECA) Ron & Heidi\* Stanley, Empire Bolt & Screw Martin & Dianne Stever, Pacific West Land Janet\* & Doug True, Iron Springs Resort wafla Washington Federal Jim & Bev Williams Wayne & Terina Williams Adam\* & Amanda Wray Robert & Ruth Wright, Matthew G. Norton Co. John & Nancy Zevenbergen Anonymous (2)

#### <u> \$15,000 - \$29,999</u>

John & Polly Addison Bryan & Brenda Alford, Alford Farms, Inc. Alliant Employee Benefits Harvey & Mei Allison Dan Alsaker Duane & Andrea Alton Kent Angier Lorrie Baldevia & Jim Hartz, Avara Construction Avista Corp Sam E. Baker, Jr. Judy Baratta & Thomas Pemberton Chuck & Linda Barbo Paul & Denise Beckstead Roger Belanich Gregg & Lauren Bennett James & Debra Blodgett Catherine Boshaw & Doug Edlund James Boulanger, Patriot Fire Protection Roger\* & Leslie Bowlin, Real Estate Transition Solutions, LLC **Breier-Scheetz Properties** Joe Brotherton Warren & Nancy Bryant Denis R. Bryant Sue & Artie\* Buerk Nadine! Burgess, Spokane Gymnastics Lee & Londi Burnett Gary & Catherine Bylund Joanna & Kevin Cable Mark & Tonyia Cairns Rick & Laura Carlson Peter & Lisa Carstens, Carstens Management Co James & Doris Cassan, Cassan Enterprises Mike & Dr. Susie Cero Dr. Dennis & Sweelin Chong Randy & Judy Clark Herb & Lynn Clark Ron & Patti Cline, Central Valley Helicopters Bill Coburn & Darlene Sobieck Columbia Bank Jim & Diane Coughlin Anne\* & Stacey Cowles Bob & Fran Davidson Jim & Raeceil Day Hon. Barbara & Pat Fahey Bill & Meredith Farris Allan H. Ferrin Carl & Jan Fisher Marion R. Foote & Thomas J. Little Team Foster, Tere Foster & Moya Skillman Jeff & Jana Foushee

Michael Garvey Dr. Steven & Timme Goodell Mark Griswold - Coldwell Banker Bain Len & Estelle Guyt Dennis & Norma Jean Hanson Art Harrigan Hart Capital Management, Inc. J.R. Hayes Corporation Admiral Tom Hayward Tom Herche Charles R. & Nancy Hogan Carl & Betty Hogan Douglas Howe & Robin DuBrin J.R. Simplot Company Mike & Linda Jones George & Sandy Kachlein Judith M. King & Gifford E. Thomas Gerry & Kathy Kingen Garith & Oretta Krause Jim & April LaLonde Lampson Somerville Family Emily & Benjamin Ling Jeff & Olivia Lippens Bruce & Barbara Lippke Paul Locke Chuck & Karen Lytle Chris & Susan Marker Kirby & Diane McDonald McDougall & Sons, Inc. Dr. Blake & Joan McKinley Ryan Neal Roger & Kathy Nelson Don & Melissa Nielsen, Lumenal Lighting Northwest Farm Credit Services Kurt & Gayle Orton Nancy & Doug Overturf, **Overturf Properties, LLC** Chris & Dalene Patterson Perrault Farms Inc Wayne & Christine Perry Ken & Claudia Peterson Mark\* & Andria Pinkowski Tom & Lonna Power Chris Randall Bruce & Gail Richards Dr. John Thomas & Joyce Rulon Peter Saladino, Charter Construction Susan Schwasnick Matt & Jamie Scott Irene Song\* & Stefan Sharkansky

Northwest CFO, Julie Shiflett Principal

Dennis & Jullie Simmelink Anne Simpson & Charlie Conner Alex & Ange Smith Robb Stack Eric & Kay Stelter Doug & Carlie Stewart Russ & Tricia Stromberg Mel & Leena Sturman Michael Swindling Tyrus & Kathy Tenold Robert M. Tippett\*, The Tippett Company **TRICO** Companies, LLC Robert & Betsy Tutland Dr. Francisco & Mrs. Mary Velazquez Wallace Properties Jon DeVaney, Washington State Tree Fruit Association Western Integrated Technologies Western Wood Preserving Co. Steven & Linda Wilhoit Bill & Judi Williams Craig\* & Janet Williamson Daniel Wilskie & Meghann Good, **UBS Financial Services** Len\* & Darcy Zarelli

Anonymous (5)

\*Denotes WPC board member

WPC'S PILLAR SOCIETY MEMBERS ARE PEOPLE WHO KNOW WHAT WE KNOW: POLICY MATTERS.



## Pillar Society Pledge Form

I am pleased to pledge \$	to Washington Policy Center.		
To be paid over three years: \$	in 2020, \$	in 2021 and \$	in 2022.
This pledge will be made as follows:	Pledge frequency:		
□ Single contribution	No. installments: 1		
□ Annually			
□ Bi-Annually			
□ Quarterly			
□ Monthly	No. installments: 36		
Installment amount of \$	(total pledge	/# installments)	
to be paid in: □Jan □Feb □Mar	□Apr □May □Jun l	⊐Jul □Aug □Sep □C	oct □Nov □Dec
$\Box$ This is an unrestricted gift $\Box$	This is a restricted	gift for	
РА	YMENT INFORMA	ATION:	
□ Please invoice me in	(month)		
$\Box$ A check for my first installment is o	enclosed		
□ Please charge my credit card:	□Visa □Masterca	rd □AMEX	
Amount: \$ Name	e on Card:		
Card number:	Exp. Date:		
Cont	RIBUTOR INFOR	MATION:	
□ Please recognize my gift as:			
□ List my gift anonymously			
Member #1:	Me	ember #2:	
Name:	Na	me:	
Email:	Em	nail:	
Phone:	Ph	one:	
Date of Birth:///////	Da	te of Birth:/	/
*Please email Sydney if you would like to a	idd more members to r	receive Pillar Society em	ail updates
Mailing Address:			
City:	State	: Zip:	
Signature:	4.7	Date:	

17